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Determining Proportionality with Tables Name:
Determineif the valuesin the table are proportional (yes) or not (no). Answers
Dix| vy x|y | x| Y
8| 20 9 | 1 710 | -40 t
-6 | -15 10| 2 -8 | -32
4| -10 11| 3 6 | -24 2
2| -5 12 | 4 -2 -8
3.
4.
5.
HlIx|y S | x| v 6) | x| v
6.
10 | 16 -4 | -5 -9 | -13
35 | 56 -3 | -6 -8 | -12 .
40 | 64 2| -7 -7 | -11 '
45 | 72 -1 -8 -6 | -10 o
9.
10.
Nlx]|y 8 x|y x|y "
50 | -10 2 | -4 2|2 '
45 | -9 1] -3 51|65 1
25| -5 0] -2 717 '
5 -1 -1 -1 919
100 | x | v W x|y )| x | v
-8 | 16 27 | -9 25 | 5
-6 | 12 24 | -8 35 7
-4 8 15| -5 90 9
2| 4 3 |-1 100 | 10
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Determining Proportionality with Tables Name:. Answer Key
Determineif the valuesin the table are proportional (yes) or not (no). Answers
Dix| vy x|y | x| Y
1. YES
-8 | -20 | 0.40 9 1| 9.00 -10 | -40 | 4.00
-6 | -15 | 0.40 10| 2 | 5.00 -8 | -32 | 4.00 no
-4 | -10 | 0.40 11 | 3 | 3.67 -6 | -24 | 4.00 2
-2 -5 | 040 12 | 4 | 3.00 -2 -8 | 4.00
3. YES
4, y€Es
5. no
Hl x|y S [ x|y 6 [ x| v
6. no
10 | 16 | 1.60 4| -5 125 9| -13 | 144
35| 5 | 160 -3 | -6 200 -8 | -12 | 1.50
7. yes
40 | 64 | 1.60 -2 | -7 | 350 -7 | -11 | 1.57
45 | 72 | 1.60 -1 (-8 800 -6 | -10 | 1.67
8. no
9. YES
10. YES
7) 8) 9)
X Y Xl|lY X1Y 1 yes
50 | -10 | -5.00 2 | -4 -050 2| 2| 100
45 ( -9 | -5.00 1]|-3]|-033 5|15 ]| 100 no
12.
25| -5 | -5.00 0 |-2]| 000 71 7 | 100
5 -1 | -5.00 -1]-1( 100 919 | 100
100 | x | v W x|y )| x | v
-8 | 16 | -2.00 27 | -9 | -3.00 25 | 5| 500
-6 | 12 | -2.00 24 | -8 | -3.00 35 7 5.00
-4 8 | -2.00 15| -5 | -3.00 90 9 | 10.00
21 4 | -200 3 |-1]-300 100 | 10 | 10.00
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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